FUJINON LENS
ERiRR

TF2.8DA-8 TF4DA-8
TF8DA-8B TF15DA-8

1/3” C-Mount

OPERATION MANUAL J
4 N
TR DA, ZOBRFIEE LSBHALIZSN, Fo, WO THE Before using this product, please read this operation manual carefully, and keep
DL TRREANWZIZTHLS, KENCHEEL TTZEN, the manual handy for future use.
( RLITHEM=1<FIZ / FOR YOUR SAFETY )
RZN This content explains important notices for all the users to use this product safely. Read the content carefully before
using, and follow the instructions.
The following signs of AWARNING and AACAUTION show:
WARNING Indicates the possibility of causing death or serious injury when misused.
NEE BoRMURWVELIEEIC, ANMEEEESY, PHBEEORENEEININEERLES . CAUTION Indicates the possibility of causing injury or substantial damage when misused.
ANE & WARNING
® KEGomBRE DAL v XML TRARWTES, BICHEEZAIFIRERVET, @® Do not look at any sorts of strong illuminant such as the sun through the lens. Eyes could be harmed.
B CAUTION
® [EHF AN ST DLFTICL U RERE LIRNTLIZE N, Ly RICE- GEKOWITEIN L, KSR D 8% @® Do not leave or store the lens under direct sunshine. The lens may condense light on a near-by object, and cause a
nBHES, fire.
® rff - SEERITOARVTIESY, W OBREEAHERLRIKE 20 ET, ® Do not remodel the instrument : it may impair the functions of product.
— R NOTICES
® Do not use this product for purposes not mentioned in this manual.
AT 5 © ® Lens and its accessories are extremely precise instrument, then be sure not to apply the strong impacts to them.
® LI REFENLIANPHLAIZ, KL ek, LYAREDRTENHVET, pES @® There may be a case that the glasses of the lens mist when the lens is carried from a cool place to a place of high
IRBBE ANV U RERFHIAT EE L, Aiib o Tl R fd FBRETIELIE ~E & S 57228 ORI RA T TS temperature and high humidity. To avoid a mist on the glasses, before moving the lens, let the lens adjust to the
FEE, ambient temperature of the place where the lens will be used.
O LUAERETHEXT, WiR. 2. BRI ADOHHBHTZREIT TSN, @® For safe storage of the lens, avoid hot or humid place, and avoid places containing corrosive gas or salt.
® IAZEFEMMB LN, Lo RIEL A py TR TS, ® Put the cap on the lens while the camera is not used for a long time.
( O# &/ GENERAL DESCRIPTION )
AL RE 13" 3CCD HT—HATHICHFESNIZL Y XTY, @lEARO5NS, FRE U I This lens is developed for a 1/3" 3-CCD color camera. It is best suited for capturing surveillance images that
ASTHRICHRGE T, require high quality as well as for inputting such images.
( @45 # E/OUTLINE DRAWING )
TA—hARYVY FAVRYLY
ZA—hRULY FAVRYLY FOCUS RING RS RN 7526 (N AIR)
FOCUS RING IRIS RING 47.5 (MAX), 46.8 (at 0) R
I *L (at o) _F.f. 17.526 (IN AIR) .
— — — —H-
— R 1= o =
DY s
e ° o _ .
[N @ r - o ” -
5N I © I
2 ; ] . 7 I N \Z I
o | Y, . | Z w
i E o _ ©_ _ [ 4 ‘ 5 2 3 | _ _ L 7 J 32
o &3 = ‘ RO gl e © ‘ EIE
®|x . V4 | - V4 e
S| o o } 5 |
o o (@] |
ki el % ) JVJ g i
i i 1] I > % i I
FlR . FlLR
GLASS ELEMENTS rr — =] \ N
M2 Lok B 16 4 \GLASS B1EMENTS CRYUb \ GLASS ELEMENTS
M2 THREADED HOLE DEPTH 16 C?;&’N'T‘ C-MOUNT
M2 LR F 25 M2 RRUR RS 16 M2 LR B 25
I\ A .
M2 THREADED HOLE DEPTH 1.6
M2 THREADED HOLE DEPTH 2.5 M2 THREADED HOLE DEPTH 2.5
*
#14 /MODEL L
TF4DA-8 46.5
TF8DA-8B
39
TF15DA-8
(B4 / unit: mm)
T L XDAMEI, EIC ko TS RAVET, o maag e foce eneth
Note. The shape of lens differs a little by models. =
( ® HAS~OEY T/ MOUNTING THE LENS )
Ly R NDREEE I AT MDRCEIL Y T, Ly Rd o WIEFH T IZEIL, Lo EralidA Tl Press the threaded portion of the lens mount against the threaded portion of the camera mount, slowly rotate the lens
AT ET, clockwise, and screw in the lens mount to be installed on the camera.
. J

HEOLAESSUNBE. RROEDFELELERTIZEFHIET,
Design and specifications are subject to change without notice.

FUJIFILM
ELXT VLKA EHT

T331-9624 HER &\ /% HALRAETTAT1-324

FKF - BFBIREHEE

TEL. (048)668-2152 FAX. (048)651-8517
http://fuijifilm.jp/business/security/index.html
http:/Awww.fujifilm.com/products/optical_devices/cctv/offices/

BB00036640-100
LH290A-8 2803

[ @ 74') R124E | IRIS OPERATION J
LU ADT AYAY 7 % BILTHERIEZI TV E T, DATRNE L CRER 5 18 O R#E T7a— R[N Ae0 £9 Rotate the iris ring of the lens. For “close,” rotate it clockwise, as viewed from the camera side.
H: TAVAV T EE LN EXT, TAYRY Y EIZHD M2 RURIT, RO M2 ALERTIAA TSN, Note: When you want to secure the iris ring, tighten the supplied M2 screw into threaded holes in the iris ring.

( ® 7+—HRIRME | FOCUS OPERATION )
VY RADT —HAY 7 HEIL TREERATOET, AT DS R TR MO TRV ES, Rotate the focus ring of the lens. For “near,” rotate it clockwise, as viewed from the camera side.
e TA—H R T HFEELINWEXIL, 74— RV EiZdhs M2 LTI, RO M2 AL ALAAT Note: When you want to secure the focus ring, tighten the supplied M2 screw into threaded holes in the focus
R ring.

( ® %£FHEUBWALH/ OPTICAL & MECHANICAL SPECIFICATIONS )

1] Bg TF28DA-8 | TFADA-8 | TF8DA-8B | TDI5DA-8 1] MODEL TF2.8DA-8 | TFADA-8 | TF8DA-8B | TDI5DA-8
2| A 1/3" 74— vk 3CCDHS—HAFHA 2| APPLICATION 1/3” FORMAT 3CCD COLOR CAMERA
| 3| £ SRRRE 2.8mm | 4mm | 8mm | 15mm 3| FOCAL LENGTH 2.8mm | 4mm | 8mm | 15mm
| 4| BEROFEL 1: 22 4| MAXIMUM RELATIVE APERTURE 1:22
| 5| #YEE F2.2~F16, yA—X 5| IRIS RANGE F 2.2~F16, CLOSE
| 6| BIE-tE ¢ 6mm (4.8mm X 3.6mm) | 6] IMAGE SIZE ¢ 6mm (4.8mm X 3.6mm)
1| 952213 h 17.526mm (ZSIBER) 7| FLANGE FOCAL LENGTH 17.526mm (IN AIR)
8| IA—hREH 0~01m (LY XEIEEALY) 8| FOCUS RANGE ©0~0.1m (FROM FRONT OF LENS)
a) JKF 89.1° 64.5° 334° 18.0° a) K 89.1° 64.5° 33.4° 18.0°
o BA b) BE 69.3° 49.0° 25.1° 13.5° 9] FIELD ANGLE b) BE 69.3° 49.0° 25.1° 13.5°
10 BEEEDOE 2 KE 218mm 131mm 66mm 36mm 10| FIELD OF VIEW a) KF 218mm 131mm 66mm 36mm
R b) BE 153mm 98mm 50mm 27mm AT M.O.D. b) & 153mm 98mm 50mm 27mm
a) TAI)R 8 a) TAI)R MANUAL
s (21EM) 115° (OP.ANGLE) 115°
1] 24 D) TA—h2R T 11| CONTROL B TA—NR MANUAL
(g1 6.3° | 1ae | s49° | 1854° (OP.ANGLE)1 6.3° | 1ae 54.9° 185.4°
12| =9k [oxdr AN | 12| MOUNT C-MOUNT
13] I EERIFRLE - [ M27 % 05mm | M25.5 X 0.5mm FILTER SCREW SIZE - [ M27 x05mm | M25.5 X 0.5mm
14] B2 %9752 | #9708 | #960g [14] MASS APPROX.75z | APPROX.70g APPROX.60g
*1: TA—DRFEEDIRIEA *1 : CORRESPONDS TO FOCUS RANGE
[ @]’ I % ¥/ ENVIRONMENTAL CONDITIONS j
| a) /A - 10°C ~ +50°C a) OPERATING - 10°C ~ +50°C
1| aEeE N e ~ T 60C 1| TEMPERATURE b STORAGE T 20° ~ + 60°C
| 2| SREEEE 35%~90% (f=tL#ETLANIE) 2| RELATIVE HUMIDITY 35%~90% (NO DEW CONDENSATION ALLOWED)
[ LY XDF AN | MAINTENANCE OF THE LENS j

L ADRENIH G I Da—TF o 7 iEsSh ThES, Zokmss NEIY) < M) [ STHnsd
L. AERTVTEREL, LOADMIREAR TS EET, £, Ihboifiud [vr) 2 e oRAEFR
IZHR0ETOT, IHENERDTTZLEIT, ROFICLTFEANEIToTEEN,
. PANUCYSTUL, Ly RDRMIZF R ZHFRNEIN /3R L TS,
(1) [FCYFEAFLfEE
HRDRNFEDLNINTRT BT =77y (GEAG) F TR 1274 R NIV ZH0EELTESY,
(2) HEMF L EE
K R0 Tl SRR 0 M CIRCRE MW RS E TS, RISIHRDRW NS S LA
WMOTRL L R == P _R= = TR T A a— L E 3L A7) —F 2D BLAA TR, LU XD
DL D A A THPERICIRS R E TS, MEBIHHLEIT, IO~ —r 8=
YVEEZ T, BE#DIRL CTLIES VY,

A special coating has been applied on the lens surface in order to prevent light reflection. Dirty lens surface due to
“dust,” “oil” or “finger print” causes harmful flare which result in degenerating lens property. Dirt may cause mold
or scorches on the lens.

Whenever the lens is found to be dirty, clean the lens as instructed below.

Note: Be careful not to damage the lens surface in cleaning.

(1) To remove dust on the lens

Brush “trash” or “dust” off with an oil-free soft brush or a blower-brush (for photography use).

(2) To remove oil on the lens
Wipe water drops or oil off the lens with a clean soft cloth and dry the lens surface. Then prepare oil-free and
washed-out cotton cloth or lens cleaning paper with alcohol for disinfection or lens cleaning liquid. Wipe the rest
of the dirty off gently with the cloth or paper by moving spirally from the lens center towards its rim. Repeat
wiping with another wet cloth or paper until the lens becomes completely clean.

( @7 & # F/PRODUCT COMPONENTS )
1. LUAARE 1 1. Lens 1
2. Bi¥vy 7 1 2. Front lens cap 1
3. ¥y 1 3. Rear lens cap 1
4. AL(M2) 2 4. Screw (M2 2
5. Bl 1 5. Operation manual 1

RSB X AL AR — AR =D F T — R TEET,

Detailed specifications and appearance diagrams can be downloaded from the Fujifilm website.
Detaillierte technische Daten und Abbildungen kénnen von der Fujifilm-Website heruntergeladen werden.
Les spécifications détaillées et les schémas externes peuvent étre téléchargés du site Web Fujifilm.
IMoapo6HbIe TeXHUYECKHE JaHHbIE U H300paKeHUs BHELIIHETO BUJIa MOXKHO CKavyaTh ¢ BeO-caiita Fujifilm.

Puede descargar especificaciones detalladas y diagramas de apariencia del sitio web de Fujifilm.

A A MASZS TR 3 00 R 2R 409 RUAS Fn s L &, URL: https://fm.fujifilm.jp/form/pub/cctvlens/download—e

\

FUJIFILM

FUJIFILM Corporatlon Optical Device & Electronic Imaging Products Div.
1-324 UETAKE, KITA-KU, SAITAMA CITY, SAITAMA 331-9624, JAPAN
TEL. 81-48-668-2152 FAX. 81-48-651-8517
http://www fujifilm.com/products/optical_devices/cctv/
http://www fujifilm.com/products/optical_devices/cctv/offices/




FUJINON LENS
(EJEEREERT

TF4DA-8
TF15DA-8

TF2.8DA-8
TF8DA-8B

1/3” C-Mount
J
_ B \ )
3 BT AT AT S AT FH BB . ek, W5 b T ARAE, DUE AT BER A5
C AEEERA~S )
T RERS 2 A IR B R AR S S, AR MO B R I LAY o A P AT 55 0 R R R IR AR A IR AR
SCRIIANES . ANFEESRFIRU NN
ANEE RREEIRBER, RETHESERARETIEGEHHAS.
INEE RTRKEIRBIER, RELEABSGERAMTREEHNAE.
AE &
® 5 7)id It Sk K P B S IR, T A R e S B 2 A
I E
o LB E TR B IR . A7 S Tt s B, 381 51k K o R fa .
o F/EHIEYRE it XS FEGE BT REZ Uk
—REEE
® iHIPHA T ARV B Td AR LM H .
® G RO A B, W2 s 2
© PLEESKIRIR N FEA IR il N iR s iR T, Bk R AR S . TR Sl N FIREREERT, 1 FE RISk 3 B A B IRE, DA .
® (REETSKIN BT SR 2RISR il SR 8
® HHLKIIAE IO R, 1w Bk i o
( ©® bt )
B R SE /3581 3CCDR A IRBHLE M. M E G N
( @ I AE )
TF4DA-8/TF8DA-8B/TF15DA-8 TF2.8DA-8
RER HKEIR
REHR BT 475 (MAX), 46.8 (at o) Ff. 17526 (IN AIR)
) \ *L (at oo0) / __F£.17.526 (IN AIR) i‘
-\ / | =] / B
— Vo 7 = N =
© &) T © © T
" 3 K 7 J
g _ o _ A N 3| o B BN
°| % R TS s . 7 T§E
© S o \ ‘ ,%J (o] ‘ © ) ‘ ,%J
)it * L] y. ol o i
- £ N = \\ - 1N
M2 $EFL R 16 »M¢\ ?{mﬁﬁ L == oo\ mamsmn
M2 S8, SR 25 M2 8L RE 1.6 M2 887 SREE 25
*
il L
TF4DA-8 46.5 (B : mm)
TF8DA-8B % Ff: 5586
TF15DA-8 IN AR : Z5HEKE
F: ERTRSIYREES.
( @ REZFMHE )
BB Sk IR L2 T 4% I TE AL A R 22 300, I & 208 e ek, K L7 [ e 7 B AL b o
J

PRI ARG BEFHR TEE,

FUJIFILM
ELRAFARMT

SF - BFREEWAE

331-9624 AAEMKEEHEHILXEAT 1-324

FiE 1 +81-48-668-2152 f¢H :+81-48-651-8517

Pk http://www.fujifilm.com/products/optical_devices/cctv/
http://www.fujifilm.com/products/optical_devices/cctv/offices/

C @ StRElR{E )
TR e el AE e AL R T e ] o IR B B RS 4 /N el s IR B e sl e e KO e
TE: ART PR E, AL Bk L M2AR 2 F 7 NG REE LR 22 FLOM2) L

C © RERE )
Fe e AR BE AR AT . BRI — S IGIN BH A4 B0 S ARIR, WISRERIT AR IR B IR B e SR AR P P S AR AL A X 52
TE: AHIE[E s RAEIRATE,  [FHETE Sk L IM2I 224 N SR AR IR L iR 22 FL(M2) BL.

C ® FZRHHIE )
1 TF2.8DA-8 | TF4DA-8 | TF8DA-8B | TD15DA-8
2| A 1/3" B IS A

| 3 ££iF 2.8mm | 4mm 8mm | 15mm
4] BRAEMILE 1:22

| 5| AEESEE F 2.2~F16, %H
6| EBRT ¢ 6mm_(4.8mm X 3.6mm)
1| BEE 17.526mm (5B K)
8| EEE co~0.1m (BELRH A HiE)

; a) KF 89.1° 64.5° 33.4° 18.0°
o BA b) EH 69.3° 49.0° 25.1° 135°
10| BIMIETH 2 X 218mm 131mm 66mm 36mm
|| K b) EH 153mm 98mm 50mm 27mm
a) XE Fa
. GRMER) 115°

1) #ReE b BE F

| (21 f)x 6.3° | 1a4° | 549° | 1854
12| #O cEn

[ 13| REREX - [ M27 % 05mm | M25.5 X 0.5mm
14 EE H75g | #4708 | #160g

. BRESCEMRIER
( D FEEHE )
[ a) f#H - 10°C ~ +50°C
1| REEE b) 2% —20°C ~ + 60°C
2| R 35%~90% (TAI%ZE)
( FRLRIPIE )
BRI T B LSRR . ZRTIRB MR K7« “Ui5” 98807 15 gs, e o R RAREE, B B Sk

PERE. BLAh, REEVSHILE “HMAM” o CEE T SRER, BURBLEGE EXEk S R .

E o S EIN AR AN B AR
(1)&1‘ Et/lx%ﬂj‘
ISR s BB R (B2 D SR s, s “BiR” o R4y
(2) sHMH SRt
W oKW B N E T SRR AR . BT o TR TS B IR A BB SRR T AR U D VR T RS B Sk i
MR Sk B O AT 170 S T A R AT A A DRI B DL T s WO A R AR S S A

*

( O EmAaR )
1. BEskE R 1
2. Wi 1
R =5 1
4. W20E( M2 ) 2
5. {fFH UL 1
BERYEEYRNENREESE HEYR
A B3 @& AUIE: ESL1EES Bty
AR B *b) (He) cd) ©r (V1)) (PBB) (PBDE)
NN

IhE (ERBEH) X O @) O @) O

110', 4h3E (RBSEREE) (@] O O O O O

SR X O O O O O

AFRIBIKIE SI/T 11364 BIFELRS
O : FRIZEEYREIZBGAEHRM RS BT 6B/T26572 MERPREZERUT.
X RFRZBEMRELCEZBEHNE—IRMRI TS EBE 6B/T26572 MIEHREER.

10 BREX . AFRRERTAETERAHEENEFES~REFRERR.
ttEmERERBEETREMER LMEEER, NE~Z2 Bl +HFAE
NEXIFRISR, BRRWASHV=EREATN. WERIRBEREEALRESERSHN.




	空白ページ



